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~VB-VI0<-VI0-3  @)2- V7> V3- V7
-V8<-3 @ +0.1> 0.3
-3V2>-23
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@ - V3 - VI0 - (- V10 - 3)
=-V3+3=+v9-V3>0

L =V3- V10> -v10-3
@2-Vi-(V3-V7)=2-+3>0
® —vV8> -9

—V8>-3
@ v0.1< V0.3

32 =18, 2v3 =12
L =3vY2<-2v3
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@2<\/5<3
L 4<\VB+2<5
® Vb < V8 < V10




VIZ 4 V3 - V8
@-v3 @ V3 ® 23
@ -2v3 ® 7V3

VI2+ VB VIS =23+ VB 4+3
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® -6 @ 4-2+2 ® 4
@ 4-36 @44—3‘/5
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:4_3;)/6+GV§;2\/6
=4-V6+3vV2+ V6
=4+3V2
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A4=7 (B A= 3)

® 2x -3y @ 2x-y
@ 2x+ 3y ® 2x+ b5y
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® 2x+y

2x2 — xy — Ay? = (x — 2y)(2x + my)
=2x2 + (m — 4)xy - 2my?

—4+m=-1,m=3

A=-2m,A=6

L 2x2 — xy — Ay? = (x - 2y)(2x + 3y)




a<0 9 ), VI - \/[3a)® + (VTBa)? & 7eks] shwt?

@ -10a @ -Ta @—4a @ 2a ® 3a

B

Via? - \/(=3a)? + (V=ba)?

= /(2a)? - \/(=3a)? + (V=5a)?

= —2a - (-3a) + (=5a)

(- a < 09122 24 < 0,-3a > 0,~5a > 0)
= —2a+ 3a—5a = —4a
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3+2V2 3-2V2

- £ AxrsHH?
3-2V2 3422

@2uv: @12v2 ®6v2 @5%5
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(3+2v2)2 - (3-2v2)?
(3-2v2)(3+2V2)

(9+8+12V2) - (9+8-12+2)
9-8

=242




X+ Ax=16°] F AAA O] FOZ Q5
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@® 374 @ 47) ®)5 71
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@ 671

® 774

X2+ Ax—-16
x+16)(x—1) = x* + 15x — 16
x+8)(x—2) =x*>+6x-16
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O<a<19, o5 F7H 2 a2?

® @ ()
@ +/(-a)? ® %
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a+b=6,ab=10°l1, (a-b)a®+ (b-a)b®> =k 2t T o], k> 2|

2k kw7

@ 20 @ 21 ® 22 @ 23
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(@)24

(a—b)? = (a+b)? - 4ab
— (V6)2—4=2
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f(x) =4x+2, g(x) = 6x% — 5x — 4 °f| th5}o]

Letold of, 2ab ©] ghe F5HH?

g(x)

f(x)

® 12

=ax+b =




15. 24101 -1 of oF9] A7

@ 107} @127]1 3 1674 @ 24 7Y ® 2874

~&B

10* =1 = (102 + 1)(10% - 1)
= (102 +1)(10 + 1)(10 - 1)
=101 x11x9
=32x11x101

kA oe] e (24 1)(1+1)(1+ 1) = 12(7H)




